b0 1 START_: \A
S Y2A

b1

Y1B

/1/
al VB
.= Y2B




—

001 STA rer._i_.




47.18




L AVVIAM.

48.18




E
(emerg)

e
0o

ok

START L




RIAVVIO

b0

Y1IA= Al = A+

al

b

a0

Y1B = Bl = B+

Y2A = AQD = A~

Y2B = B2 = B~

50.18



Rl

AVWIO UL

E

START L

(emerg) X

Y1A

Y2B

51.18



b0 1 START |_._.

B

al

001

Y2A

VB

Y28

52.18



START
b0

RIAVVIO

L= L=

z
O
=1
>

a0

YIA= Al = A+

Y1B = Bl = B+

Y2A = A0 = A-

Y2B = B2 = B-

L= ]|l ]




RIAVVIO |

Pk g
bol  smarr L,

b1

(emerg)

Y2A

VB

YZ2B

54.18




55.18 START

V1A = Al = A+
b0 &
RIAVWIO )
al Y1B = Bl = B+
2! X & b—oo
=]
: I
NOT X
=1 O Y2A = A0 = A-
bl &

ao Y2B = B2 = B-




Yie

&

56.18



.p/ P

RIAVVIO

| X3 Py S e

G N

SE‘L. y

57.18




—

B

) RIAVVIO

-
/xz

Y1A

>
Y2A

Y18

VB

Y28




61.18




62.18




